Name 
   Class 
    Date 

13.2 Ribosomes and Protein Synthesis (pgs. 204-210)
The Genetic Code
A codon is a group of three nucleotide bases in messenger RNA. Each codon corresponds to one amino acid.
Follow the directions.
1. Circle each codon in the diagram of RNA below.
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Answer the questions. Circle the letter of the correct answer.
2. What is a polypeptide?

A. a chain of amino acids

B. a chain of enzymes

3. What does the letter A stand for in the genetic code?

A. amino acid

B. adenine

4. Can a codon contain two of the same nucleotide bases?

A. yes

B. no
The Genetic Code
The diagram below shows the mRNA codes that correspond to amino acids and stop codons. Read the diagram from the center outwards. For example, the mRNA code UAC corresponds to the amino acid tyrosine.

Follow the directions.
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1. In the chart below the diagram, write the name of the amino acid that corresponds to each mRNA code.
	mRNA Code
	Amino Acid

	AAA
	lysine

	GCG
	

	GAU
	

	CAA
	


2. Which two mRNA codes correspond to histidine?

CAU & CAC
CAA & CUC

3. How many different mRNA codes correspond to arginine?

2
4
6

4. How many different mRNA codes correspond to methionine? 


Translation
During translation, transfer RNA (tRNA) anticodons match to messenger RNA (mRNA) codons. Each tRNA molecule can carry one particular amino acid. The amino acids are joined to form a polypeptide.

Follow the directions.

1. Number the four tRNA anticodons in the order in which they should appear to match the codons in the mRNA strand.
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             __________          __________           __________            __________

2. Which anticodon matches the mRNA codon UUC? 

3. Which amino acid is carried by the anticodon UUU? 

4. List the amino acids in the order they would appear in the polypeptide coded for by the mRNA.
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G





U





G
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A





C





C





mRNA





phenylalanine





leucine





lysine





methionine








